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Questions:

Question Booklet Series - C

60 Questions to be filled

1. “C’%) gora: faw R e man

‘C’ was primarily developed as

(A)
(B)
©
@

2. U 3TE HToTe 3 FTCRIE 3T a1 Ot

Torrelt TrTTEeT Jm System programming language
Y WA UM/ General purpose language
SHHST U YT/ Data processing language
SR $IS gt / None of the above

&

A semiconductor has temperature coefficient of resistance.

(A)
B)
©)
(D)

YHRIHT / Positive

R/ Zero
FUFHD /Negative

SWIFT Tﬂ'ap lﬂ:ﬁ!}f /None of the above

3, C URH ST AT &y d P T Bl St §

C Programs are converted into machine language with the help of

(A)
(B)
(©
)

wfge/ An Editor

DHHEIZEN /A compiler

T SO JomTelt /An operating system
14 ®Is i T8t /None of these.

4, 31TEhcTeT ER U= 3UATaT &) &

Most radar antennas use a

(A)
(B)
©)
(D)

S. TSliRitd S sgfd & g e @ decar gegar 2, & 3{T3eye diecdr

In an unregulated power supply, if input a.c. voltage increases, the output voltage

(A)
(B)
(©)
(D)

fgyda/ Dipole

ﬁ?ﬂﬁtﬂ%f g / Broadside array
*11 3R YRaEIP TGP / Horn and parabolic reflector

W@ﬁ ogg / Collinear array

&6/ Increases

YIE?IT%! Decreases

Gl _69[ AT g/ Remains the same
IRIFT Eﬁﬁ oft :IBQI [ None of the above

6. fpTaifse ey 9e ® wide Teq FkE §

Which of these sets of logic gates are designated as universal gates?

(A)
(B)
(©)
D)

NOR, NAND.

XOR, NOR, NAND,
OR, NOT, AND.
NOR, NAND, XNOR.
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7. JUUE UR BT SRy I &
The frequency range for satellite communication is
(A) 1kHz-- 100 kHz
(B) * 100 kHz—1 MHz
() 10MHz-30MHz
(D) 1GHz-30GHz

8. W.am.eh IR fale 1 Ui fasar s 31
The CRO uses Method of focusing
(A) Electronic
(B) Electromagnetic
(C)  Electrostatic
(D) Electromechanical

9. Tl qonfagt 3 I UATellaT =T AT g2
Which are the following systems is analog?
(A) PCM
(B) DM
(C)y DPCM
(D) PAM

10. e d fae=es 8051/, Wole Tolerent TR 3tiensT faed T 3R Rl & g5 ST §
In 8051 microcontroller, the register that holds the serial data interrupt bits TT and RI is
(A) SMOD
(B) SCON
- (C) PCON
(D) 1IE

11, Te Trerh fSraeT card d 3R aars 1 %7 JioRIe R 0§ I <Toreh & sam 3T S 34y ofsng aarar
& al, 3T FIACE 2

The resistance of a conductor of diameter d and length 1 is R Q. If the diameter of the conductor is
halved and its length is doubled, the resistance will be

(A) RQ
{B) 2RQ
(C) 4rRQ
(D) B8RO
12. . . Fyde A ul e s s e WA RE YIS 8
In each node is connected to every other node by direct links.

(A) TarcmEs/ Ring topology
(B) SISt/ Tree topology

(C) #=regrars! /Mesh topology
(D) TRE/ Star topology

13. e sifaras yidaal 7 9 g @t ad arem 3§ Suan far =1 gedr g
Which of the following semiconductor devices can be used in an enhanced mode?
(A uJT
{B) NPN transistor
(C) JFET
(D) MOSFET
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14. 1f& wp17 7R vy wied] vafRia e g, o gh forg firemar 31
If frames are displayed on screen fast enough, we get an impression of
(A) R/ Signals
(B) HI=RF/ Motions

©
(D)

m [Packets
fdcq / Bits

15, Tafof@a 31 O U CiEsquT i age oIl W faene) wide & ST faar S ¢

One of the following transducers is used for very small linear displacement measurements

(A)

TA.GLELE/ LVDT

(B) fUer 7T / Pirani gauge

(C)
)

?‘IT@QH/ Thermocouple

e 5:@- &Y /Shaft encoder

16. TIR® e & $3eye W U Bl g frefid sear 3|

A small circle on the output of a logic gate is used to represent the:

(A) Comparator operation.
(B) OR operation.
(C) NOT operation,
(D) AND operation.
17. g arsfad _Fl
A fetch cycle is the
(A)  SIJa% YISfdbd BT WYY UFT/ First part of the instruction eyele,
(B) 3R Ursfdrd I3 YT/ Last part of the instruction cycle
(C) 3w wrglehd S YNT/ Intermediate part of the instruction cycle
(D) 3R II3fda HTRS YT /Auxiliary part of the instruction cycle.
18. 580 3 fagd fava & feprfén g e wear 1

EEG can involve the recording of electrical potentials from

(A)

B)
©

D)

i o1 g, Oiene # Ay sy g

Groups of neurons, via electrodes inserted into the brain
U R / Single neurons |
RGBT Y, RR & Ea & v saacisy gRT

Groups of neurons, via electrodes placed on the scalp

SR G4l /All of the above

19. fadlg wdtexor & R |, Siffedy 3ima T urs o Yol ..

On the basis of dimensional equation, the maximum number of unknown that can be found, is

(A)
B)
©
(D)

Teh Jone
&l /two
o /three
I ffour
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20. TP o IR07 dieeal (i @vdl

21.

22,

23.

24

25.

The voltage induced in an inductor is represented as,
(A) TR 3R SUD] YRT BT UM -
Product of its inductance and current through it.

(B) RT3k SUDB! ¢RI F §GAT <R BT {UFHT

Product of its inductance and rate of change of current through it.

(C) WRSHdl ¥ FHS! 4RI BT U

Ratio of its inductance to current through it.

(D) IS YRT Y Wbl Bl S{Urd

Ratio of current through it to its inductance.

3 Y U fRenurd org T8 &7

Which of the following is not a binary code?

(A) "/ Morse

(B) TSRF/ARQ

(C) diSE Baudot

D) WA AR -2/ corrre

U 31 TIRS pn U SIS BT ufcRlY sg Sife S8 gl
A forward biased pn junction diode has a resistance of the order of
Ay Q
By k&
) MQ
(D) SWRIF B Tal/ None of the above

Tféis T BT ST &
Dimensions of relative density are

(A) S/ GaR® / mass / length™

(B) TEHM x @915 mass x length’

(C) SYYBIE MM G/ It has no dimensions
(D) das°® / GoIHH/ length*/mass

AreeHe &1 genfear o o

Voltmeter sensitivity is expressed in
(A) ohm /V
(B) V/ohm
(C) Ohm-V
(D) Volis

el Freifa Forf emufif as & foramt dieear faaor g

In an ideal regulated power supply is one which has voltage regulation of
(A) 0%
(B) 5%
) 10%
(D) 1%
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26. eI ARABIAS B oIy [HwmaEraiRu

Transmission line must be matched to the loadto

(A) IS BT HfAHIH diecdl RIFGARAT / transfer maximum voltage to the load
(B) €IS &l ifYeHad diecdl QMR / transfer maximum power to the load
(C) dI8 YRTSTBHHY/ reduce the load current

(D) 8% HRDHIH YR RIFART L/ transfer maximum current to the load

27. U YR g g W F aftafis T 2
A Thermistor is a transducer which converts
(A) aHE A SRY® [ Temperature to resistance
(B) AWM ¥ dlecdl/ Temperature to voltage
(C) WHgH™ q YRT/ Temperature to current
(D) SR PIS 781/ None of these

28. SHidgl dar YU 1 HEd B
Data communication refers to the transmission of
(A) s[RI/ Voice
(B) W 3IFST/ Computer data
(C) difEdl/ Video
D) ENES) a’l‘_{ 8! /All the above

29. DIAC 3R Fe 78 ofdeT gl
A DIAC is nothing clse but a
(A) TRIAC 1 7 efifeq % / TRIAC without the gate terminal
(B) GTO & WY EITE / GTO with two gates
(C) SCS & WY T 71T / SCS with one gate
(D) IRy & 91y U YIS / Transistor with one junction

30. ISDN # Hels1d Hheds gl
The fundamental concept in ISDN is the
(A) TAEINTi%d/ Analog signals
(B) si@lafye ui/ Digital bt pic
(C) SIE §9R / Voice communication
(D) ®URIIR/ Computer communication

31. ae I A siifder GaieT vy gl wevged 3t wenfid §
Inthecaseof  adirect physical connection path is established between two computers.
(A) ufRgy RaRiT/ Circuit switching
(B) Uope fRafdT/ Packet switching
(8))} o i/ Message switching
(D) SICHE/ Datagram
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32. 3-ge19e OR 91T & @rey of1 fqu $9e et v, 21 i a7 3mseqe adernmd agr 3

For a 3-input OR gate, with the input waveforms as shown below, which output waveform jscorrect?

INPUT B J——I——,—

INPUT C l*r—
OUTPUT a | 1
CUTPUT b L

OUTPUT ¢
OUTPUTd—" l
(A) a
B) b
(C) ¢
o) d
33, DMA SRETeRT 3 T a3 ST i (o FEI L

The concept of utilizing the bus for DMA operations is known as
(A) CPU I/ CPU cheating

(B) wEidd €T/ Cycle stealing
(C) CPU I /CPU stealing
(D) I D% T8/ None of the these

34. TaR.HNST 3 5o & fonu aif¥epfet fasar T 8
ARM processors were basically designed for
(A) 7 TpH YOIl / Main frame systems
(B) fadivd womet / Distributed systems
(C) Trarsd oelt / Mobile systems

(D) YW PR/ Super computers
35. Tawsifaiad 7 & Sie a1 AART e giReet 3k v FReT & {7 A e & o F 37T aee

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM
(B) DRAM
(C) Both SRAM and DRAM
(D) None
36. WolHr fAgiTy

Principle of laser is
(A) T SFUYU/ spontaneous absorption

(B) SH@ING JWOH / simulated emission
(€C) WRUFEST/ induced emission
(D) &I (B) T (C)/both (B) and {C)
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37. ARM # 3150 #9490 gl
The address space in ARM is
(A) 2724
B) 2764
() 276
(D) 2732

38, fee=Tafrd # & sl ar afs ocd -
Which of the followings is/are active element?

{A) el ld / Voltage source

(B) YRISId/ Current source

(C) THi/ Both

(D) FURIa] H BIs 81/ None of these.

39. T VHDL 3iiehsT 9eR 41 [ 1 a1 0 e g §ehetl 67
Which VHDL data type can only have a value of '1' or '0'?
(A) R/ signal
(B) fae/ vit
(C)  std_logic/ std_logic
o Ry integer

40. wes U i) <ol S5
The body will move only when
- (A) YU g = SIWYdd §¢1/ Force of friction = applied force
B) oy 9 <3{J¥gad §d/ Force of friction < applied force
(C) oy 9 >3{JUYdd 9 / Force of friction > applied force
®) U gHt/ All of the above

41. 3 §19¢ R YA dIee g9 W), TF OP-amp 7 sreefa: IM3euge g1 iyl
With zero volts on both inputs, an OP-amp ideally should have an output
(A) TPRIES 3HYfd diecdl & T/ equal to the positive supply voltage
(B) HUHSD &ﬂqfcf dlecdl & TH / equal to the negative supply voltage
(Cy I &AM/ equal to zero
(D) CMRR & HHF / equal to CMRR

42. Frofafed o 9 o o fdawo 1ad g7
Which of the following statements is incorrect?
(A) TTL OfSw & 950 o9 ol @ug i1 & 3R 39T 3 gl U] § WieiR,
ST T STl B
TTL logic has very low power consumption and is therefore widely used in highly
integrated components.

@) TTL YR Hdfe eReie3.4V eﬁwzv@m%n
TTL devices have logic levels of about 3.4 V and 0.2.V.

(C)  TTLYE QIR Tad 5 V oy vrereq §
TTL logic normally operates from a single 5 V supply
(D) HFE TTLYF A dorul faeie g ¢ S feydi oivyey & HeRU IR gRT THIfda 81
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Standard TTL devices have a propagation delay that is dominated by the storage time of the

bipolar transistors used.

43. TS Pl I Q et B
Q factor of a coil is given by
(A) XL/R
(B R/XL
(C) XL/Xc
Dy X/ XL

44. WWW. g W ¢
The WWW isa (n) layer protocol
(A) fd®t/ Physical
(B) SFTWRIRT/ Application
(C) SiPSIHEl/ Data link
(D) WA/ Session

45. wlef U e FATAIR e hr TS % 3% 87
Which gate corresponds to the action of parallel switches?
(A) OR gate
(B) NOR gate
(C) NAND gate
(D) AND gate

46, =T T HATOT 3 3 Hargor ¥
is the transmission and reception of information,
{A) H1gaT / Modulation
(B) @R/ Communications
(C) fafeor / Radiation
(D) I / Emission

47. TrATa T gedter ce e 9o wigersT & fagia ov menia §-
Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT
{B) URM®ICEIS/ Pencil triode
) fmelé)[:f/ Magnetron
(D) T/ Kiystron

48, NPN giforex & 39 o siftiaraH §a9cH Yare $d Bl

Most of the electrons in the base of an NPN transistor flow:
(A) AFETF ST/ into the collector

(B) oY {1 ¥ g/ out of the base lead
(C) U & SiaT/ into the emitter
(D) S¥UGH & 3fg/ into the base supply
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49. pn HASE T H FHH FAT5
A pn junctjon acts as a_
(A) FERBTRIE/ Controlled switch
(B) fafd=mdt f&=/ Bidirectional switch
(C) U feumdt %69 / Unidirectional switch
(D IR ﬁ'é’ gl / None of the above

50. 3rferenciaT ZETCT §IeIT § STel ol a7 67 olig & 8T & ?
Maximum efficiency will occur, when copper loss is_- to iron loss?
(A) UG/ Greater than
(B) Y'HH/Less than
(C) HHH/Equals to
(D) IWIGd $Ig 981 / Any of the above

Sl.mmqﬁqﬁwaﬁwwwmm%ﬁaﬁwm: & TaTelT grar 2|
When transistors are used in digital circuits they usually operate in the: "
(A) HiHT &F/ active region
(B) WM &/ Hnear region
(C) o 813 &7 / breakdown region
(D) g 3R FEATE & / saturation and cutoff regions

52. 45T AT 7Y Tehel Sedeic 9T Aot & IgaT 39 AT B1aTT)

Before audio or video signals can be sent on Internet, they need o be

(A) TFENd/ Channelized
(B) ¥/ Managed
(C) SiPIpd/ Digitized
(D) Efdd/ Organized

53, TP AP T B B - ATSHE ST ATAE 1 87
What is meant by the fan-out of a logic gate?

(A) 3 e o e o e & Sl eye Bl oS Wb §
The number of other gates that can be connected to the gate's output,

(B) 4ffRT IR erFeye ol & i ot vifos &
The physical distance between the output pins on the device.
(C) 3T TS T Teedy ot 9] F §9Ye! #f ¥ U & WY SISt o U &1
The number of other gates that can be connected to one of the gate’s inputs.

(D) 11T GRI Sifé LideH & 9@y

The amount of cooling required by the gate

54. {¥eheT Ulhere GaNT £IRT SGT4 BT &
The skin effect causes current to flow
(A) Hicidh FHEU/ In the center of the conductor

(B) 1% % Uag & U/ Near the surface of the conductor
(C) drdd & Ul PR b YR/ Through central core of the conductor
(D) TP & YR UH 9T/ Uniformly through the conductor
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55. fGU aTT el & 9 &iet NOR 9 s giaedr § 2
Which of the figures given below represents a NOR gate?

1o- 4> & J5

a. d.
(A) a
B) b
@ ¢
(D) d
56. TWT o sftverd &1 3ugm F emfrmemare

An attenuator is used in TWT to
(A) TUdTIqi@I/ Prevent saturation
(B) He™dI I=8-1/ Help bunching
(C) Tde el / Prevent oscillations

(D) STPIRIT ST/ Increasing gain
57. Tt IR SUNUNTeR] B Widd UeH @3 o 9eidl & igad faar Jrar g1

Batteries are used to power all satellite subsystems
(A) I g U/ At all times

(B) HE TR ?5 AR/ Only during emergencies
(C)  viguiafddi %GR/ During eclipse periods
{3) TR WD fRm e R4/ to give the solar arrays a rest

58. fufciar frage & aoiFase sfau eanT Rar Smar gl

In sampling theorem the Nyquist interval is given by

Ay Ts= 1
fm
B) Ts= 1
2 fim
(C)y Te= 1
afm
D)y Ts= =
fin

59. e gaiey Ud quitd & W A fGwdT 81
g F UBIH B PRUTEA &

Sun appears red at sun rise and sunset. This is due to scattering of
(A) odl GRICtz | longer wavelengths
®) agaTeef / shorter wavelengths
(©) Gﬂqﬁlﬁ { lower frequencies
(D) w3 3afcl/ all frequencies
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60. =TTl Ed g ATFer 7 gRge R3 o fewre & g Feir sear g1

Under which of the following case the power dissipated in R3 in the circuit shown will
increase?

(A) SHRISIGEEIE/ When Rl is increased

(B) WER2BIGUAIHIA G/ When R2 is doubled

(C) E & wH AT /E is reduced

(D) R4 &I 37 ulkuy fsar Siar § / R4 is short circuited.

R1
AN
R2
— E ‘
R3
R4
AN
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